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And we do not prohibit a woman on account of seclusion;
should we say that this ruling is not according to >''-.

OVERVIEW

The X713 cites the opinion of 27; if a married woman secludes herself with a
stranger, she is permitted to return to her husband." We do not assume that
she was [11%72] 77921 (which would have prohibited her from returning to her
husband). We derive from the ruling of 217 that a 717> does not presume a
7X"2. The X3 claims that this ruling is incompatible with the ruling of "9
according to >7°¥T who maintains that n7272 means (only) 73001 — 77, and
not 777¥21. In this case of 7> it is the opinion of °"3 that an unmarried
woman becomes 77317707 710K because we assume that (11731 1°n17) Hoval. It
1s apparent that °"9 maintains that by a 7T there is a presumption of 7X"3;
not like 2.

nooIN asks:

- NN YINT (13) 2999197 DNYAN 12 PYNY 2399 11N
The X''2w1 is perplexed by the s'kn3 assumption that the 17 of ¥ 170X 7R
77 1s incompatible with the view of "7 according to 7°¥1 for (even)
according to >7°yr who maintains that N7272 means 779n%2; there were no 07
75y, nevertheless the 71wn —

= DYAIY NI NTINT 1N S9N

is discussing a case where for instance she admits that she was 75v21 (as
mooI1n will immediately prove). Therefore there is no comparison to the "7 of 17. 27
maintains that 77°7 %Y PI0IR PR, in a case where (the [married] woman maintains that)
there was no nX°2, merely 7117°; and »7°v1 will agree (even according to °"7) that PI0IX X
7 9y, The 7awn is discussing a case where the (unmarried) woman claims *n>y21 wab;
it is (only) then that >"1 maintains that she is not believed.” The m1wn is not discussing a
case of 77, but rather a case of IX°2.

! See following 72vn 7"7 Moo, that 21 is discussing a case of an WX NWKX.

? The contradiction is (even) somewhat magnified. *"7 maintains that not only is there a presumption of 71X*2
by 77, but also a presumption of 11?1 1017 77V

? Moo maintains (originally) that the contradiction between 21 and > is concerning 7. Moo does not
want to interpret that the contradiction is concerning how we rule by a p50; that 27 is lenient by a (7717°) po0
and "1 is strict by a (7X°2) po0. MBOIN asserts later that there is a difficulty in assuming that this is the
contradiction. One reason may be that we cannot compare the 50 of X2 by 717 to the P50 of 7121 N1 by
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moon will now prove that (even according to *7°¥T) when °"3 states 121 7792 NP2 7 °01,
it is only in a case where she claims °n%v21 9w>%, but not in a case where she claims X?
NoYa:

- ‘N2%90 POV 21 19 ONX XYY XY NN INT
For if she claimed >n®>»a1 X%, she would be believed for then, this claim of

'n5va1 X? makes it a doubt within a doubt; one doubt is if she was 75v21 at all
(then she is certainly n1772% 79w2), and even if she was 719923, there still remains a doubt
that perhaps she was 79¥21 to a "> (and she is still 717795 77Ww>). In the case of a poHO
RP°50 we know —

= NP’9D P90 Onn sv)‘Pb 9RNTI YWIN? 229 VINT
that '"% would approve her marrying into 71175 as the X7 n3 states later

‘there it is a X520 P29’ and therefore "1 is 2wan. It is evident from that X7n3 that in
the case of 77n01 the woman claims W27 *n%va1 (otherwise it would be a X0 P90 and
she would be 77w>). The question remains; there is no contradiction between >"7 and 2.
27 maintains TN YY PIOW PR in a case of TN only. However °" is discussing a case
where we know there was 7X°3, by her admission that ("w3%) °n%ya1. It is not merely a
case of M.

N1B0IN answers:
- *nbyay RY NINNPT SN BNYST Y Y

And one can say that really the mwn is discussing a case where she

claims that she was not 77923, and the reason she is not believed (according to ")
even though it is (seemingly) a X*50 90 is because —

= PP DINIVION PNT NPP9D NTN 119D 2PUN)
It is considered as one P29; not a Xp*o0 0. It is assumed that she was
mova1. The only poo is if it was w22 or man?1 N1, The reason we consider
her as 7%v21 is for there is no ‘guardian in regards to illicit relationships’;
we assume that if she was 77n03, there was a %2, The only po0 is if it was qw2% or N7

qtan. The contradiction between 27 and °"9 is now apparent; 27 maintains that 70 X
T Y, that T does not presume 7X°2. However °" maintains that if she was 77001 it is

a X°2 >k It should be borne in mind however, that in either case there is only one 50. If there was X2 in
the case of 27 (no matter with whom) she is 79v2% 770X, See later in this nwoIN (footnote # 9) and
‘Thinking it over’ # 3.

* See “Thinking it over’ # 4.

SR, 77. The X3 there cites an opinion of "7 in another 73wn (concerning 70 NIMYR) which (seemingly)
contradicts his opinion in our 71wn that the woman is n1X1 7K. The X713 resolves the contradiction by
stating that 70°y NMoX is a Xp*00 o0 and therefore even "1 agrees that she is nanw. The case of 70w NN
is discussed at length in the X773 there.

% See “Thinking it over’ # 2.
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assumed that she was also 7>va1.

mooIn has a difficulty with this explanation:
= NTY22 Y9NT (3,10 mpy) 2IY PID WA YHRWN NITHAT NYP YaN

However there is a difficulty for it is clearly indicated in the beginning
of the second p9» that according to *7°¥7 the 71wn is discussing a case where
it is known (through her admission) that she was 79pa1 —

= 19503 H9299 INNI NINT YPY XNNN 7‘1)3Ni7‘f
For the X n3 there states: ‘according to »°¥1 it is understood that there is

a wn (issue) for 7°¥7 maintains that the meaning of n9237» is 79nv;
therefore there is a 21 in the case of nN7271 —

- 9999 *Nandhn NIV XY N9AN NIV INT M7
For ‘since’ if she would have claimed, ‘I was not ;7°»21 she would have
been believed, etc.; therefore she is believed when she claims °noya1 w25, It is
evident from that X3 that in the case of n7277 she is claiming *n%y21 7w5%, and not &>
nya1. If she would have claimed °n%y21 X7 she would be naaXi. The original question of
mooIn returns. There is no contradiction between 27 (who is discussing a case of 711) and
the case of >"1 where there was 1X°2; as the woman claims (qw27?) >novaa.

N1B0IN answers:
- 19 199K RTN NPT $99Y 75997 NN 799

Therefore it seems that the challenge of the X773 is that according to >3,

»"9 forbids her to marry into 712172 (even) on the basis of one P29 (whether she

was 119¥21 to a W or to a MY 1PNI); this is incompatible with 21 —
= TIN'N DY PPIDIN PRI NN NTH RPIODT YIN NYUNRYT TIN> XN

For the 79 of an @R nwR with a stranger which is also (only) one po®;
whether or not there was 1X°2 and we do not forbid her to her husband

because of the 7. The contradiction between 27 and "1 is that >"7 invokes an T10°X
on the basis of a p90; while 27 invokes no M9°R on the basis of a PDO.Q

NN remains somewhat dissatisfied with this answer:
— 1299 PINN TINT AN NIINIDT NYP NP

7 The x7m3 there maintains that *"3 admits to X" 3" that a certain type of W (which is mentioned in '2 1)
is effective; but not the type of 1 that X" "1 maintain in the first P75. The X713 then attempts to discern
where there is an effective 1 in the first p79 (according to X"71 1"9). The X nx concludes that according to
»v7, there is an effective 1 in the case of NY27H MR,

8 In our text the Xo™3 is: "N *NHYA TARPY NVl XY 7Nk v X7 ', The word 'Randnn' is written
adjacent to °n?y21 7nXPY and not as in X071 MO, near the words *n7v21 8. See ‘Thinking it over” # 1.

? In this answer no01n disregards any differences between the types of mp0. See footnote # 3.
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And it is somewhat difficult to accept this interpretation for it seemingly
appears from the X713 (as o010 will shortly prove) that the challenge was
from one case of 77 on another case of 7¥1%; from the case of 71> by 21 (where
91 PO PX) to the case of T by »yr (of N7 MIXT) where °" is TN DY NOW.
However, since we have proven that (even) in the case of 77001 she is claiming (qw3%)
ny13; it is not a situation of (merely) 7> by >v1, but rather a case of a P50 to whom she
was 2ya.

moon will now explain why it is assumed that the X723 asked 77°X 7w°n and not Pdon
POOX.

$IUN 299 NDY 999D 799911
since the X923 challenges (only) "9t and not oK 29. If the question is poon
POOX (as MdOIN [reluctantly] concluded), then the same question could be asked according
to *OR 2. According to *OX 27, in a case where 7921w X and there is a P90 as to whom,
*"3 maintains that she is poon 7MOX. This would seemingly contradict the statement of 27
that 71 HY PI0IR PXR; that we are not 10 on the basis of a poo. The same question that
is asked on "7°¥7 can be asked on "oX 17, if the question is oK poon. If, however, the
question would be 71X 711", then it is understood that the question cannot be on "oX 17,
because *OX 27 maintains that N1271 means 719v23, which is certainly not 77°. The question
would be only on *°¥7 who interprets N727» to mean 77001, It could have meant (only)
7, were it not for the X713 in *3w P79 which indicates that she is claiming >n%ya1 w3
and not *nHy2a1 X7,

SUMMARY

Originally n19o01n assumes that (according to *7°¥7) in the case of N7277 7R,
the woman claims °n5va1 ®9. The conclusion (based on the second p79) is
that she claims *nbya1 qwab.

moon concludes that the contradiction between "7 (according to *7°¥T) and
27 is in regards how to deal with a (710°X) p50. 27 maintains ¥ M0 X
77, that a (78°2) P90 is N, while ¥ maintains that a 91291 1PNI% 7R°2 P50
is 7MoX. It is not clear why the same question does not apply to (°"9
according to) "OX 211.

THINKING IT OVER
1. Is there any difference whether we are 03 like M0 that RS 772K KT
'RI°7 *NDYA; or as our RO, which is, that X12°77 >Nyl (wab) ik 220

10°See footnote # 8. See w"wn.
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2. Originally Mo maintained that she is claiming *n%y21 85.'' How can we
reconcile this with our 71wn, where she states 'R 37791 21179 woX'; she does not
say "noya1 ko1

3. In the XX M7 of MdOIN that the question (on *7°¥T) was TR T°; why
indeed did not the X713 ask a similar question of PooX P90 (even) according
to "ox 21?7

4. Initially m»oin assumed that she must be saying °n%vai w32, for if she
claimed n%v21 X% she would be 10, since it is a x50 pod.'* However if she
is believed to claim °n%y21 X% then she should also be believed that w27
"noya1 for she has a 11 to claim *n5va1 85!

' See footnote # 6.
12 See Mnwa nYX.

13 See footnote # 3.
14 See footnote # 4.
15 See *"1o.
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